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Pevnostni tfidy betonu

Analytickeé vztahy/

vysvétlivky
f
o 12 | 16 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 55 | 60 | 70 | 80 | 90
(MPa)
fC cube
o 15 | 20 | 25 | 30 | 37 | 45 | 50 | 55 | 60 | 67 | 75 | 85 | 95 | 105
(MPa)
f fom = Foy + 8
o 20 | 24 | 28 | 33 | 38 | 43 | 48 | 53 | 58 | 63 | 68 | 78 | 88 | 98 om = Tk
(MPa) (MPa)
Fetm fom = 0,30 x fo#® < C50/60
16 |19 |22 26|29 | 32|35 |38 ]| 41| 42|44 )| 46| 48] 5
(MPa) fom = 2,12-In(1+(f o/ 10)) > C50/60
f fotcoos = 0,7 X F
w00 g1 131518 2 | 222527 20| 3 | 31|32 34135 o005 e
(MPa) 5% kvantil
f Foroos = 1,3 % F
o0.99 2 | 252933 |38 42|46 | 4953|5557 6 | 63|66 o085 e
(MPa) 95% kvantil
E : E on = 22(fn/10)*
o 27 | 29 | 30 | 31 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 41 | 42 | 44 on = 22(fen/10)
(GPa) (femv MPa)
viz obrazek 3.2
€e1(%o) | 1,80 | 1,90 | 2,00 | 2,10 | 2,20 | 2,25 | 2,30 | 2,40 | 2,45 | 250 | 2,60 | 2,70 | 2,80 | 2,80 . o
e Cloo) = 0,7 £, 0% < 2.8
viz obrazek 3.2 pro fy =50 MPa
et (%o) 3,50 3,20 | 3,00 | 2,80 | 2,80 | 2,80 ; s
Ecut(loo) = 2,8 + 27[(98 - n)/100]
viz obrazek 3.3 pro fy 2 50 MPa
£c2 (%0) 2,00 2,20 | 2,30 | 2,40 | 2,50 | 2,60 5 053
602( /00) = 2’0 + 01085(fck - 50) '
viz obrazek 3.3 pro fi =50 MPa
£cuz (%o) 3,50 3,10 | 2,90 | 2,70 | 2,60 | 2,60 ; s
£cu( 1) = 2,6 + 35[(90 — f)/100]
pro fy 250 MPa
n 2,00 1,75 | 1,60 | 1,45 | 1,40 | 1,40 .
n =14+ 23,4[(90 — £ )/100]
viz obrazek 3.4 pro fy 250 MPa
€43 (%o) 1,75 1,80 | 1,90 | 2,00 | 2,20 | 2,30 .
803( /00) = 1,75 + 0-55[(fck — 50)/40]
viz obrazek 3.4 pro fy 250 MPa
Ecu3 (%o) 3,50 3,10 | 2,90 | 2,70 | 2,60 | 2,60

£a5(oo) = 2,6 + 35[(90 — £ ,)/100]*
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